Multiply and Divide by 0,1 (C)

Find each product or quotient.

0,7:0,1= 0,6:01=
0,7283 x 0,1 = 8,2x0,1=
55:0,1= 4,3263:0,1 =
1,04:0,1= 9,871:0,1 =
9,161 X 0,1 = 581x0,1=
1,9972 x 0,1 = 51:0,1=
51:0,1= 1,8 x0,1=
9,74:0,1 = 1,8:0,1=
3,238:0,1= 8,4553 x 0,1 =
4,6477:0,1 = 39x%x0,1=
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Multiply and Divide by 0,1 (C) Answers

Find each product or quotient.

0,7:01=7

0,7283 x 0,1 =0,07283

55:0,1=55

1,04:0,1=10,4

9,161 x 0,1 =0,9161

1,9972 x 0,1 = 0,19972

51:0,1=51

9,74:0,1 =974

3,238:0,1 =32,38

4,6477:0,1 =46,477

0,6:01=6

8,2x%x0,1=0,82

4,3263:0,1 = 43,263

9,871:0,1 =98,71

5,81 x0,1=0,581

51:0,1 =51

1,8x0,1=0,18

1,8:0,1=18

8,4553 x 0,1 =0,84553

3,9%x0,1=0,39
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